"[} 10 Minutes of Code - Python

TI-NSPIRE™ CX [l WITH THE TI-INNOVATOR™ HuUB

Unit 2: Tl-Innovator™ Hub®for)L— 7

UNIT 2: SKILL BUILDER 1
STUDENT ACTIVITY

Skill Builder 1: @ JL—F

ZOLyR2TIE, Tl-Innovator Hub®a > F X% X k ThHfor B2
W—TOBEEBNLET, .

range()BE%k % {& o f=for)L— TR

o float()# > TIOEHREE AN
o NWRBLEBZTA FDIERK

I—FDEFY%E, EEShFEERHIIL—TI5EZE, range()BE%k Tfor
W—T&E2ET,

range()BE%E, BIEMETONLIREY, LEIEME)T 2EmML, EESiz
BTRHL—EDOHEERLET,

B#light.blink()TIE, REY A 7L E+ZITHIHTEELEA. 54 M
EDSBVRLTL, ENSHBULELTSE DD, 10MHEIC3EIRRSES S
EETEDEAID,

COLYARUTI,
ERELES.

COHEHE, RBOBBZEEHETESTOIS A

1. FHRWDOPython Hub ProjectT > T L— kD LIEDET,
BSDDANRT— AV MERBLET,
e RURMDIHEIC L TLD
e onTime(LEDM =479 S BERE)AIZ1D
o offTime(LEDAVEKT 9 A BERE)AIZ1D

Note: B TIIHAWEARBEZRELE-WEAENRHY £F, input()E
BOBIZiNt)ZEES KD YIS, float)ZEFENET, ThlzkY, /I
THIEZANTEET,

float() &int()I&, menu > Built-ins > TypeDH (A = 2 —>HAH>4
A1 T0R)ZHYET,

2. RT—FAVFERBBALET,
for index in range(size):
block

ZMhlE, menu > Built-ins > Control( A = 2 —>#A A A &>l 1) H 558
RLET,

DEIZ, A0T4FTBUT FATRADEHE)index, size, block#
BEEMZLOILENHYFET,

©2020 Texas Instruments Incorporated 1

for index in range(size):
blocl
|

1.2 *Unit2 Py..ops
A *u2sb1.py

from ti_hub import *

from math import *

from time import sleep

from ti_plotlib import text_at,cls

from ti_system import get_key

blinks = int(input("Number of blinks? "))
onTime = float( #complete this...
offTime = float( #complete this...

A *u2sb1.py

from time import sleep
from ti_plotlib import text_at,cls
from ti_system import get_key

blinks = int(input("Number of blinks? "))

onTime = float( #complete this...
ofﬂ'jme = float( #complete this...
for [JEE in range(size):

blocl
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3.

TI-NSPIRE™ CX Il WITH THE TI-INNOVATOR™ HuUB
iNdexZFEEDERICEEMZA T I (DA —BMIZEDAET),
T, ROT1—ILKRIZEREILET,

size#, RUDAART—FAD FTHEHLAIZZE$DblinksIZ
F9., 15— EtabZML T, blockZzBARTLET,

tab % #

BEEH;A

for)l—FDblocklE, F4 k(TI-Innovator HubD FRELED) % &1 F %
—EDRAT— A2 FTY, light.on(), light.off(), sleep)RXRT— k

AUREFEVET, POoTHAFEL LD, INPURT—FAY FTEST:
BAZSVTDEREFES CLEZBNHENTLIEELY,

TRTDANRTF—F A2 MIIOEHDEEFEZTTHA, mREESIE
BYICEBRINTET, FIEEZT£21202F52EETEEEA!

RORATYFE, ERLETATSLERLTVET,

TS LIFROELSIZHEY ET,
blinks = int(input(*Number of blinks? "))
onTime = float( input(“ontime?”))
offTime = float( input(“offtime”))
for i in range(blinks):
light.on()
sleep(onTime)
light.off()
sleep(offTime)
TS LEERETTRHEEL BEEZANLTHLOLEDERRELTL

SV, TATSLNERTSDE, 54 MIFUFERRATICRYET
75\0

LEDIEZ Ml L EJ A, TI-Nspire CX IEE TIEfAI b Y FH A, for
IW—TAIZprINtAT—r AV FZEBMLT, BEORRBESERTL
F9,

print(i)
print()[&menu > Built-ins > I/O(#* = 2 —>##&AH>/0)IZH Y £F,

TS LERTTHE, LEDAGSERYICHA
BE@EIZA Ty I RERIDENRTINET,
hot=l EIZRIDEFELED.

*RRESIE TREEIH—11 TY,

Iﬁk-d_éf' , :/I)l/
EELEOHFIZFNE
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UNIT 2: SKILL BUILDER 1

STUDENT ACTIVITY
2 1.3 | 1.4 ERCLIPALETE RAD D 4
@ *u2sb1.py 1317

from time import sleep
from ti_plotlib import text_at,cls
from ti_system import get_key

bllnks = intCinput('l Iumtw[ f blinks? "))
onTime = float( # te

offTime = float( #

foriin range(blinks):

rap [l X
17/31

1.2 *Unit2 Py..ops

@ *u2sb1.py

from ti_system import get_key

bllnks = int( |nput( Number of blinks? "))
onTime = float( # f
offTime = float( #
foriin range(blinks):
light.on()
sleep(onTime)
light.offQ
sleep(offTime)

rap [I] X
13/32

1.2 [ 1.3 | 1.4 ERCLUrASCTH

A *u2sb1.py

from ti_system import get_key

bllnks = int( |nput( Number of blinks? "))
onTime = float( * f
offTime = float( *
foriin range(blinks):
| print()
light.on()
sleep(onTime)
light.off()
sleep(offTime)
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7. EEDPython print()B#® K+ Y IZ, Hub ProjectT > FL— kHiA >
R— +9 5%, $5lICTexas InstrumentshBA%E L f-text_at()B%kZE % e "u25.b1 i 1307

9, TATSLOLEEICHDimpot R T— kA2 FESBLTLE from ti_plotlib import text_at,cls
X0 from ti_system import get_key

blinks = int( input("Number of blinks? "))
N - onTime = float( input("on time? "))
menu > Tl Hub > Commands(#* =2 —>TIHub>a < > F) 5, offTime = float( input("off time ?"))

text_at(...)’éig?ﬁ'bi'é'o fr?r‘iirj‘rénge(blinks):
. . . i . text_at(®, str(i), "center")
text_at(row , "text" , "align™) light.on0)__
- sleep(onTime)
rowld, fIfTBICtextZ#RRT HMT, ZZTIE6TEICLET,
“text’ DD YIZ, ROKICHBstri)EENET,
Menu > Built-ins > Type(* = 2 —>#&AAH#>F 1 ) LiDBEH{EZE X
FHICEBRLET,
“align”IEXFIERTT IEARDLEE, 32DKRY T7 v T0E
REDleft(X), center(FR), rightB)DWNNIT A EEIRLET,
print(i) R 7F— kA2 &, ctri+tZLTIAY MIEBRLET,
ROELSIZEYFETS,

# print(i)
text_at(6, str(i), “center”)

8. JOySLEBE EFLET. 54 FEl0BMSEARS s [ I

[, ED&SHBEANT BBENHYETA, REXLTHELE | ]

Do 3
blinks = 3 :
OnTime = 2 1 O‘I’T 2| 3 Al osn S‘ 7 8 ‘:” 10 1:
offTime = 2 1

SEE O RMIEBELOMEITRT LETH, TRTSLIEE D20 |

BT LELA. RISERBEEHYETH.

EABRERTFI D LETNLENTCESLY,
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